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1 IKF Tk 41 41 7.2 133.8 51|58 5LE 50 50/12.0 |38.0
2| FJH Ho 40 40| 6.0 |34.0 52/MI 56 56/18.0 |38.0
SUNEFTE (B 41 41] 6.0 | 35.0 53 FHEE FERH 43 43| 4.8 |38.2
419K BT 41 41| 6.0 |35.0 54| EifR HEE 43 43| 4.8 |38.2
5\ FHIA i 41 41] 6.0 | 35.0 55| ks A 49 49/ 10.8 | 38.2
65 BR= 47 47/12.0 | 35.0 56| ZRE JE 1 49 49/10.8 |38.2
TER R 39 39| 3.6 |35.4 57| S 43 43| 4.8 |38.2
8IRkE Hik 38 38| 2.4 |35.6 b8| Pk A 48 48| 9.6 |38.4
94 M)II T 38 38| 2.4 |35.6 59| 1= EH 42 42| 3.6 |38.4
100HA AHEA 44 44| 8.4 |35.6 60|H FFH 48 48| 9.6 |38.4
115 555 43 43| 7.2 |35.8 61 RA 1554 47 47| 8.4 |38.6
1280 FEE 43 43| 7.2 |35.8 62| BF BiiE 47 47| 8.4 |38.6
13| (L =S 42 42| 6.0 136.0 63| BpIR 40 40/ 1.2 138.8
14| 23R FnBA 42 42| 6.0 |36.0 64|55 46 46| 7.2 |38.8
15| AT SR 36 36/ 0.0 |36.0 65 gn AR AME 46 46| 7.2 138.8
16 AT 55 35 35/ -1.2 |36.2 66| iy #5 52 52/ 13.2 |38.8
17/ H FEZ 41 41] 4.8 |36.2 67| AF BT 45 45/ 6.0 |39.0
18 {AlS FEAL T 47 47/10.8 |36.2 68 = B 45 45| 6.0 139.0
19| AER FEME 40 40| 3.6 |36.4 69| A B 51 51/12.0 [39.0
20 FKJR FHK 40 40| 3.6 |36.4 70| 287 Bk 38 38/ -1.2 |39.2
21|/ A 46 46| 9.6 |36.4 18R % 50 50/ 10.8 |39.2
2|ER & 40 40| 3.6 |36.4 72|tk 5 50 50| 10.8 | 39.2
23 5B tHZ 40 40| 3.6 |36.4 73| KEH 3k 43 43| 3.6 |39.4
24|HF B 39 39| 2.4 |36.6 (SR 49 49| 9.6 [39.4
25| +H 1FiE 45 45| 8.4 |36.6 75|41 SO 43 43| 3.6 |39.4
26| &EF JEH 39 39| 2.4 |36.6 6| RE TR 49 49/ 9.6 |39.4
27| KA KW 38 38/ 1.2 [36.8 TR RS 42 42] 2.4 139.6
281 1T 37 37/ 0.0 |37.0 T8 IA FHY 46 46 6.0 140.0
29 ¥ 43 43| 6.0 |37.0 19| #alE ONA A 46 46| 6.0 |40.0
30|80 AR [N 36 36| -1.2 [37.2 80| [ H S 52 52/ 12.0 |40.0
315 Fh— 42 42| 4.8 |37.2 81|59 # 46 46| 6.0 |40.0
32| f@)Il fE— 42 42| 4.8 |37.2 82| At Ik 45 45| 4.8 [40.2
33| iR 42 42| 4.8 |37.2 83| T3 {# 45 45 4.8 |40.2
34 \MEEE 5% 41 41| 3.6 |37.4 84| FA HET 50 50/ 9.6 |40.4
35| IE: 41 41| 3.6 |37.4 85| & 43 43| 2.4 |40.6
36 ki —K 40 40| 2.4 |37.6 86|/NI TE 48 48| 7.2 |40.8
37| %85 W 45 45| 7.2 137.8 87|14/ AET 54 54 13.2 140.8
38|HH #l 45 45| 7.2 |37.8 88| mitl I3E 1 54 54| 13.2 | 40.8
39| % EL ] AT 45 45| 7.2 |37.8 89| filx HI 53 53/12.0 | 41.0
40 ¥ H B 45 45| 7.2 |37.8 90 ()1 ¥&— 52 521 10.8 | 41.2
411825 B 45 45| 7.2 |37.8 91| FHH @Kk 56 56| 14.4 | 41.6
42|25 T #i& 45 45| 7.2 137.8 92 | 1&IRy LT 49 49| 7.2 [41.8
43 /NE 45 45| 7.2 137.8
44 |\9)1| {EER 51 51/ 13.2 |37.8
45| 1UH H& 2 50 50/ 12.0 |38.0
46| KR BR 44 44| 6.0 |38.0
47 Y8 BER 44 44| 6.0 |38.0
48 |HITH B 44 44] 6.0 |38.0
49 91 5% 50 50| 12.0 [ 38.0
50| Rk R 50 50/ 12.0 |38.0
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